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01 At22t2l] 10,450 11,000 2550
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02 2401 8,640 9,600 A960
O=LH04Hl 200,000 *4H * 122 «90% 8,640 9,600 960
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20228 22T 2 HLEES Al 33,477 0 33,477
020224 HLES 34N 775 0 775
O2020e AZSF UL SHAIAY 60,885 0 60,885
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= 1,531 0 1,531
02 Al - CHIEZSEHES 140,046 166,433 N26,3R
O02d sOHEEAA S 0|™A= 2 1,200 A1,198
O202E S=0t 20N LB A 97 0 o7
020223 0101 & SH0ILA 550 0 550
020223 =JtZ AL 3,380 0 3,380
020223 =IHHBES 2 Al 33,843 0 33,843
020224 HYBES SSEHH 29 %3 0 e¢)
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02022 DZLHHIOIHA AL S S-198 X Al
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= 35,750 35,750 0
) 234,512 233,510 A3,998
[ 275,627 265,836 9,791
= 1,082,058 1,070,924 1,134
2 & 1,010,299 1,022,445 N12,146
7 226,880 226,880 0
= 68,064 68,064 0
T 715,355 727,501 N12,146
2238 KA 6,112 6,380 268
201 L2 3,230 3,400 A170
02 3224l 3,230 3,400 A170
OZEXH (LR X2XE) 234
50,0003 #32|*1CH* 122 %95% 1,710 1,800 A0
OT S XIRXHE) &l
300, 000 *43]*1CH*95% 1,140 1,200 260
OSERH(UrE X2XE) 282
400,000 *1CH*95% 380 400 220
405 KHAHE S 882 980 98
01 AL ESHSHI 882 980 98
OXef Med 120,000 *2JH*90% 216 240 N24
(OF3=¢=JCIPN; 120,000 *4JH*90% 432 480 A48
OAIRE 2kt 260, 0002 *1JH*90% 234 260 A6
AKX HAAX HAAY 488,122 500,000 ~11,878
201 L2 40,949 43,266 N2,317
01 AtR2telbl 37,313 39,276 21,963
Oxteg = 650,000 *2CH* 122 *95% 14,820 15,600 AT80
O822I A2
70,0002 +3F 102 %95% 1,99 2,100 A105
O2=E8F F(UE, HE)
20, 000 6007 *95% 11,400 12,000 2600
O2sX% JoIEs M
10, 000& *100F*95% 950 1,000 250
OAFS A ATHIZ 7602 *4Z+500*95% 1,444 1,520 AT6
ONsES FU(AMLXAIB)
2,056& x2E+500F+95% 1,954 2,056 A102
OAgsE=E= 2,500 *2&+1,0000H%95% 4,750 5,000 A250
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I oA ME AF
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OFCIUA FHDE LALY
80, 00024 *203| x00% 1,440 1,600 A160
OZQIZEAF 2THAl 500, 00024 %131 %00% 450 500 AB0
OANQEIIE|(E2H 5 S
500, 00024 %23| *00% 900 1,000 A100
301 YBHHHD 81,000 90,000 9,000
1 SALAHI X2 81,000 90,000 9,000
OZ0ILA EERHS
30, 00024 %57 H 2 #4853 ¥90% 73,872 82,080 8,208
O2AlbI(EZ S)
1, 0002 * 1657 *483] *00% 7128 7,920 ATR
405 TaHE S| 5,049 5,610 561
01 Kot 223 S| 5,049 5,610 A561
OARE(SLIEEE)
1,500, 00024 %3CH*90% 4,080 4,500 A450
O™ o BEAYE
250, 00024 %324 <00% 675 750 AT5
OEDY 12,0002 *3CH *00% 324 360 A
FERGE 226,012 167,408 38,604
< 139,710 127,460 12,250
z 86,302 59,948 26,354
AFEZeIH| (AR AIMOL A e 2oIRE3) KR 35,500 0 35,500
< 10,650 0 10,650
= 24,850 0 24,850
307 21201 H 35,500 0 35,500
< 10,650 0 10,650
= 24,850 0 24,850
NEEEEET 35,500 0 35,500
Ot Z2IH| (AR A0} ZOIRE2)XIR (50
o) 35,500 0 35,500
= 10,650 0 10,650
= 24,850 0 24,850
ToasTeI oIS 2HE XD 2,240 0 2,240
< 1,120 0 1,120
= 1,120 0 1,120
307 21201 H 2,240 0 2,240
< 1,120 0 1,120
= 1,120 0 1,120
NEEEEET 2,240 0 2,240
OB[BAS Tl FUS 2T X (2Y) 2,240 0 2,240
= 1,120 0 1,120
= 1,120 0 1,120
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SRl NS EER=E)
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YRR Al=dl =0 X 6,000 5,040 960
< 3,000 2,520 480
= 3,000 2,520 480
307 2I2t01H 6,000 5,040 960
< 3,000 2,520 480
= 3,000 2,520 480
01 22 FZH 6,000 5,040 960
LSS AlSHl 20 X1 (8Y) 6,000 5,040 960
< 3,000 2,520 480
= 3,000 2,520 480
et T3 28,824 28,920 A
201 el 1,824 1,920 AP
01 At2telt] 1,824 1,920 aNe 3
Ogirs nESIte 2
3,000& * 120 %23 *05% 684 720 N36
O SEFIE R0 UM
2003 * 120 +500 *05% 1,140 1,200 AB0
A 236,436 245,217 18,781
= 35,750 35,750 0
Jl 7,632 11,630 /3,998
[ 22,193 24,427 22,234
= 170,861 173,410 22,549
Ol=0t & H&&40l&0t 2/=H| X2 1,108 4,440 N3,332
2l 554 2,220 1,666
< 277 1,110 2833
= 277 1,110 A\833
307 2Ito1d 1,108 4,440 N3,332
pJ 554 2,220 N 1,666
< 277 1,10 2833
i 277 1,110 2833
01 222 1,108 4,440 N3,332
O0l=0 ¥ d&-0I&0 2/=Hl X3 (1) 1,108 4,440 N3,332
J| 554 2,220 A1,666
< 277 1,10 1833
= 21 1,110 1833
SEEUAIOIY BAF X &ot2te 400 480 A80
) 200 240 A40
< 100 120 A0
= 100 120 A0
307 2I2to1 400 480 N80
) 200 240 A40
< 100 120 A0
= 100 120 A0
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O SUAIOIA ZAF Y SHoF22|(1F) 400 480 A80
| 200 240 A40
= 100 120 A0
i 100 120 A0
AIMOF U™ ZD|RIH 200 1,172 AN972
| 100 586 AN486
& 50 293 A243
i 50 293 A243
307 2I2+0l ™ 200 1,172 AN972
| 100 586 AN486
= 50 293 A243
= 50 293 A243
01 2 2¥+=H| 200 1,172 AN972
OAdlMOoF Uh =D18H(1Y) 200 1,172 AN972
| 100 586 AN486
& 50 293 A243
i 50 293 A243
PAF SHHEALS 1,672 2,457 AT85
= 502 737 A235
i 1,170 1,720 AB50
307 2I2+01 ™ 1,672 2,457 AT785
= 502 737 A235
= 1,170 1,720 AB50
01 9= 7=H| 1,672 2,457 AT85
Ogale SRAZXIH| X2 (58H) 1,672 2,457 AT85
& 502 737 A235
i 1,170 1,720 AB50
AR o =l KA 2,000 1,800 200
| 1,000 900 100
& 500 450 50
i 500 450 50
307 QI2HO1 M 2,000 1,800 200
| 1,000 900 100
= 500 450 50
= 500 450 50
01 9= 7=H| 2,000 1,800 200
ONE Ui ozl XA (5H) 2,000 1,800 200
| 1,000 900 100
= 500 450 50
i 500 450 50
MOHZ=D| 2A2r2tel AIHALS 10,196 14,008 A3,812
| 5,098 7,004 21,906
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01 ArR2eltl 2,430 1,892 538
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99,0002 %105 990 1,892 A902
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& 247 473 A226
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202 Odt| 4,110 6,800 A2,690
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220 3K LAX HIZ0! HIE XY 8,400 7,000 1,400
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= 4,200 3,500 700
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pJ 33,760 33,762 A2
= 33,760 33,762 A2
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< 4,197 3,620 577
= 4,197 3,620 577
307 2I2to1 8,3% 7,240 1,154
(= 4,197 3,620 577
s 4,197 3,620 577
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< 312,981 359,250 N46,269
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oefe 2l 7,600 8,000 2400
oltR X 7,600 8,000 2400
201 ger=3| 7,600 8,000 2400
01 AtR2t2l] 7,600 8,000 2400
OFIVIE & 8 2223 7¢
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< 312,831 359,100 N46,269
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A0tEAED 2 250,000 250,000 0
= 0 125,000 125,000
= 125,000 0 125,000
< 62,500 62,500 0
= 62,500 62,500 0
307 @lztold 250,000 250,000 0
= 0 125,000 A 125,000
= 125,000 0 125,000
[ 62,500 62,500 0
= 62,500 62,500 0
05 QIIIEZ 250,000 250,000 0
OA0rEAED 2HXIR (A 1Y, 2tSAH 4
Y olid| X&) 250,000 250,000 0
= 0 125,000 125,000
= 125,000 0 125,000
< 62,500 62,500 0
= 62,500 62,500 0
FpootaE S 29 328,090 348,630 120,540
= 205,056 246,100 A41,044
= 123,034 102,530 20,504
307 @l2tol ™ 328,090 348,630 120,540
[ 205,056 246,100 A41,044
= 123,034 102,530 20,504
02 QB EANGEE X 328,090 348,630 A20,540
O3EtAIH S A (2001 129 Q124H] XI¥) 328,090 348,630 A20,540
< 205,056 246,100 A41,044
= 123,034 102,530 20,504
FHA Kgs=s20=)2 K& 90,000 100,000 10,000
< 45,000 50,000 A5,000
s 45,000 50,000 /5,000
307 @lztol ™ 90,000 100,000 210,000
= 45,000 50,000 25,000
= 45,000 50,000 5,000
02 QI AANEE X 90,000 100,000 10,000
OF X 822012 22 K2 (S=4 2
Al XI) 90,000 100,000 10,000
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307 212t01™ 300,000 240,000 60,000
02 QI HAANEE X 300,000 240,000 60,000
OXY 222z 4(S=24 2244l X
&) 300,000 240,000 60,000
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02 Zteltl 27,701 0 27,701
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